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SECTION -1
qug - |
CHILD DEVELOPMENT AND PEDAGOGY
e fereha va frereme

There are 30 questions in all in this section.
All questions are compulsory.

A EUE A T 30 TH 7 |
et o e |
Which statement is NOT true as a principle of development ?
(A) Every stage is equally important for development.
(B) Development is the product of maturation and learning.

(C) There are individual differences in development.
(D) Developmental patterns are predictable.

fara % e S s i A AT A FA TE & ?

(A) Toepma = ford Tish Sreeen auH &9 & Hewyul # |

(B) Terepma, uftuerrat a2 diwa 1 afomy 2 | i
(C) forerma # safeama fafrramd & & | E’%ﬁf
(D) foeprd & yET @A B 2 |

Theory of moral development was propounded by whom ?

(A) Robert J. Havighurst (B) Lawrence Kohlberg
(C) Elizabeth Hurlock (D) Lev Vygotsky
Afcreh Terehra o1 g fepwreh g wfcraiea fomam o 7

(A) TR . e (B) R4 HrEerRt

(C) TfASTee T (D) < TRl

Individual differences in career choices are explained by
(A) Differences in cognitive abilities

(B) Temperamental tendencies

(C) Differences in cultural background

(D) Differences in aptitude

STET I | A ferdeh fafi=arat s f gro awemn San @ —

(A) T AFarati § 3T (B) TR Yafat

(C) HiEhiceh g8 § 3= (D) SAfyeqar & 3T

Role of environment in child development is best reflected by

(A) Temperamental tendencies (B) Personality disposition

(C) Primary reaction patterns (D) Habit formation

1o TorehTd & e <6t yfireht % g1 a8 T ®9 H ydfefesd g g |
(A) TE¥TETA Sl (B) =Afadca shl Wehid

(C) wnfires gfdfskan = adis (D) 3Ted fmfor
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Who has NOT propounded the trait theory of personality ?
(A) Paul Costa & Robert McCrae (B) Ramond Cattell

(C) Hans Eysenck (D) Gordon Allport
Sfedea b1 Sfterur fargr=a fepem wfarfea 72 feran @ 2

(A) Uit ST 9 e Hehsh (B) UG hed

(C) &4 3TESth (D) T 3rferdid
Which personality test is valid for clinical diagnosis ?

(A) MMPI (B) 16 PF

(C) EPPS (D) TAT

i |1 Afeded Ter AT fgm & e dg g 2 .
(A) TH.UH 9376, (B) 16 H.u%. E‘%ﬁf
(C) 3.i.dua. (D) AT,

Which intelligence theory was proposed by Robert J. Sternberg ?
(A) Two factor theory (B) Multifactor theory
(C) Triarchic theory (D) Hierarchical theory
Te . weHet gRT gfg 1 a1 g safera femem o 2

(A) fewres fagra (B) =g fagr
(C) Tremam frgr= (D) UETIshH g

Which of the following is a performance test of intelligence ?
(A) Jalota General Intelligence test (B) Bhatia Battery

(C) Army Alpha test (D) Draw A Man test
=1 o @ 1 @1 gfg w1 frsafa oo g 2

(A) ST 99T §fg Wi (B) wifean aed

(C) ATHT 37ew®T qheqor (D) ST T AT wequ

Which of the following concept is NOT true for the nature of individual differences ?

(A) Normal probability (B) Learning similarity

(C) Variability (D) Interrelationship of traits
HfaqTa ff=Tarsti & Yepfd o ford T 4 8 %1 € stauron 9 T8 & 7
(A) T GEATSIA] (B) AT HE

(C) Tormermsfieran (D) Sfierun &1 ey
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11.

12.

13.

14.

)
Which measure is NOT relevant for the education of gifted children ?
(A) Enrichment of Curriculum (B) Remedial teaching
(C) Grade acceleration (D) Special classes
ferTerTedt sTetent =51 e sk foerdl siv | Sur wrEfies TE R 7
(A) UTgTsHH i Tgfg (B) 3URNIHS T
(C) ovft 3=fa (D) foery errd
Which disorder is a type of learning disability ?
(A) Cretinism (B) ADHD
(C) Dyslexia (D) Autism
1 i forspla STferTe 318/ o1 U TR & ?
(A) whiefsH (B) TETHE
(C) Tewifeean (D) 3fifesw
Which element of maladjustment is specifically related to decision making ?
(A) Stress (B) Frustration
(C) Anxiety (D) Contflict
FHETRISH T I &1 aed foros &9 3 fooia o & o=fRa 2 2
(A) = (B) P %ﬁg
(C) ffam (D) 7% e

According to J.P. Guilford, which is NOT the characteristic of creative children ?

(A) Empathy in thinking (B) Multiple solutions to a problem
(C) Flexibility in thinking (D) Originality in thinking

1.4, FTAT®e o STTER, ST STeTehi <hl forivdT b o 78 & ?

(A) Taa o TEfa (B) THET % gy IW

(C) o o wrfiero (D) T & Hiferear

Trisomy-21 is termed as

(A) Klinefelter’s syndrome (B) Sickle cell disease

(C) Turner’s syndrome (D) Down syndrome

2TSETHI-21 1 T ST 2

(A) FATETheel TeAequl (B) Taspat o T

(C) TR FAG (D) T3 FaAe
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Which of the following is NOT a part of Thorndike’s laws of learning ?

(A) Law of readiness (B) Law of association

(C) Law of exercise (D) Law of effect

1 5 & %9 91 UiHEs® o HigH o i o een @i 8 7

(A) e 1 frem (B) wrE= 1 frem

(C) 7= 1 fem (D) wuTE 1w

Which of the following is a psychological factor influencing classroom learning ?
(A) Health, age and gender (B) Level of maturity
(C) Motivational and emotional state (D) Meaningfulness of the contents

3 5 & i T e | g 1 I S STeT BAISRITe Re § 7
(A) TETE, 3 TH U (B) uftgerraT w1 &R
(C) SATSRUMH T HaTTTeHeh 3Tawel (D)  ferwarereq shi aveiquian

Insight theory of learning was propounded by whom ?

(A) Wolfgang Kohler (B) Jerome Bruner

(C) Martin Seligman (D) Erik Erikson m5
atferT w1 STagf® fagr forereh gr whtrafea femerm e e 2 E’%ﬁf
(A) STEHTT BB (B) M R

(C) wIfE Aferm (D) Tfh TiREH

Which is the final step of problem solving approach of learning ?

(A) Following logical sequence (B) Knowledge of concepts and principles
(C) Verification of performance (D) Demonstration of activity
AT & THET-FHTE UNTH 6T Jf<H SO HEAATR 7

(A) dfcheh hH T STTERTT (B) EuIT qT =i 1 I
(C) T o1 Heamo (D) Tsranfafer o1 Tes=

Use of defense mechanisms as a strategy for adjustment was originally introduced by
whom ?

(A) Abraham Maslow (B) Sigmund Freud

(C) Carl Rogers (D) Jean Piaget

TR o fofl T I & €9 | 1@ laaal o TN I Hifeleh €9 & foheeh grT Tqa
IERIRIPIE

(A) ITSITEH "TEAl (B) firmmve wre
(C) e U™ (D) S frm
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21.

22,

23.

Y
Which of the following is an example of extrinsic motivation ?
(A) Need for achievement (B) Anxiety
(C) Level of aspiration (D) Reward
1 & 9 61 o1 TRy TSR T IR R 7
(A) IUAS S STTITIHAT (B) Ta=
(C) 3TThIET &R (D) TEHR

Which of the following is NOT a type of teaching according to stages of teaching ?

(A) Understanding stage (B) Demonstration stage

(C) Memory stage (D) Reflection stage

e | 9 | freqor & Tl o6 SYR W e 1 yeR AE 7 7 mm
(A) &g TR G PRECHERS &%‘f
(€) Hfd =R (D) o &

Which teaching-learning method was introduced by Dwight W. Allen ?

(A) Micro teaching (B) Team teaching

(C) Brain storming (D) Interactive teaching
TS T&0Y, Ve oh g i & frequr-arferm fafyr sega i 8 7
(A) HeH Targror (B) T« freqor

(C) ufeash fawra (D) 3t=a:feman faremor

Which are the three important components of motivational cycle ?
(A) Learning, reward and satisfaction

(B) Need, drive and incentive

(C) Motive, goal and feedback

(D) Achievement, approval and affiliation

JTTOTTCH =I5k o o HgqUl Teeh M A § 7
(A) 3T, JUhR AT |q

(B) SATEYIehdl, A1 AT TcHTE

(C)  ANTRYT, |e a1 wiagfe

(D) 3Udfed, TTHIGH qAT FEE
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Main objective of action research is
(A) Activity (B) Diagnostic
(C) Descriptive (D) Transformative
foraTee SHYM T IgE@ 3T 7|
(A) Toranfates (B) e
(C) Feraromee (D) ET<RT

Which of the following is NOT true for the construction of achievement test ?

(A) Reliability (B) Evaluation

(C) Validity (D) Objectivity

Iucafsy i o v s R e d s s g 78 8 7 %@
(A) Torvemfiaan (B) AT =i
(C) T (D) aEgHBa

National Curriculum Framework was introduced in which year ?

(A) 2001 (B) 2005
(C) 2004 (D) 2008
TE uTeI=t ®ET ! fohe o o yarfera femam o ?
(A) 2001 (B) 2005
(C) 2004 (D) 2008

Which assessment type is NOT related to teaching-learning process ?

(A) Achievement (B) Continuous

(C) Clinical (D) Remedial
oot 1 1 1 T reror-srfenm ufshan & grafa 72 8 7
(A) 39wl (B) ¥daq

(C) et (D) SUERIHS
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28.

29.

30.

®

Which concept is NOT related to Jean Piaget’s Theory of Cognitive Development ?
(A) Schema (B) Acquisition
(C) Assimilation (D) Accommodation

ST fURrTSt o ST TR & Tag=d § i i STUNN Sesf-ad gl & ?
(A) whm (B) IIRmEw

(C) IATHHATHI (D) =FIEIMmEA

Pair of genes that occupy a specific location on a particular chromosome and control the

same trait is termed as

(A) Karyotype (B) RNA

(C) Allele (D) Autosomes

ST 1 ST, S oy ured W ue faflkre s sTeyfed iar g aun 99 E 07 S FHEfea

AT S, EXSIGIES

OF{0]
(A) HHITEET (B) IM.GA.T. &%‘f
(C) Ue (D) 3T

Which of the following is NOT a stage of psychosexual development propounded by

Sigmund Freud ?
(A) Phallic stage (B) Anal stage

(C) Oedipus complex stage (D) Latency stage
fermug Wy grr ufearfea Tl s &t seren A A s dt T 2 7

(A) fere arazen (B) T 3TaEq

(C) sfeum Sirgeiay TaE (D) e JFereRm
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3S.

(10)
Qus - 11
qET -1

&=

THEUSH FA30 THZ |
Tt e e € |

Trferiaa e o AU 9 U9 G 31 § 35 9ok o I Sl

PL-2

“3Te A1 HEIA I Gl & W § 7 4% 0 s § giagn & T8 7, I8 hl 37U Hrehl
STTehe{eh Ik  TH-FT U1 ST ¥ &1 T 2 - afosh U T & g TIH TGS Bl AS
IR QR o R US ! W1 STEH & 712 | T8t I gl 781 off | 376 1 &8 ST@ari & o fooett §
TR B & TR <% < GEL gl | +ff 59 o a8 o fed 91 & | 39 T8 R < H T &l TWE ! 9l -
TS o H1Y @R CE-T¢ I Hohd @ | TR & IR 370 HUTGh I I3 FHT TG Teh1RId hid
g | 3 TR IS FWEAR A 3T IR Hal N B1d & TAT FHIId Hel 3B @ | | 3SH e
f&g A ugell IR 38 Tkl 1 ST oA | o7 =g H qFR feRan STt o1 3R 3Eeht oot
I -TTH Terehel ITeTT TERTUT FIATOT o T[STTa § BUAT o7 | 316 36 qohr1eh ol SEIUTA oo Tt &1
STEER &t 7 3 |7

31. %@Tﬁﬁf‘@’waﬂaﬁ%—

(A) FI (B)  3TTehTaT
(C) IFhd (D) 3TEReHT

frferRaa § @ ‘sl 1 @€} ICEWIR

(A) T QU T HSHT ITTHH 81 TR | E-%%

(B) 37N ST@ER A1 37 dIR el TR Ed & | Ol

(C) U Tg Flaen 3uetsy Tt of |

(D) 3T ITEER fgwg T Taell SR 6 Thr1eh ohl SEIHTC TehaT ST |

Fefafga g o Efifem 2

(A) HIHI (B) hiferet

(C) HrRL (D) p1gEd

g8 Teh-{1h T STt feham’ # Ywiifehe s sTger= Siger W & —
(A) T dHAD | (B) 3 dhHIh |
(C) T dhTehi | (D) &9 qHhAI |
Fafafga i A v w1 eI A ®U 2

(A) @E (B) Hvd

(C) TR (D) U
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37.
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39.

40.

41.

42.

43.

44.

(11)
A’ ITeg 1 forl [ &I 8 —

(A) &u (B) =mad

(C) =mad (D) Eq

"TH ISRt Fed Bl | T@Tfehd TEsHl i IETETI & —

(A) Termmo (B) Toran-femmm

(C) &= (D) T

“Bteh =T BT 312 Tehe ST FTAT TETE & —

(A) TS gUHI | (B) GY I Y U Shl T+ T |
(C) fem i am femms & | (D) 31 g ST ¢l

“Bie] I TSt BT B | %1 31 arfireifsa s areft St oAt & -

(A) ERX T UE AR TR | (B) <hTTTedl T 31T Tt |

(C) U USAT TR ATCATE ] TSI HLct & | (D)  Teh IR T SR |
“Thetehdl <hl T STl | 39 are | W fag sl S had & 7

(A)  3meeri fere (B) Fews

(C) 9 Fered (D) quifert

7 9 AT, TSR SIPROT 3TR |Teehiaeh qecer i forg e fafy @ oo faen &
(A) STeed AT (B) wftrs frem

(C) fepuet e fafy (D) W% Ugfa

T T o YT UL 3T HITareti ST 9= Hid THT &I TG FA11ET —
(A) ehfardn shi W fererse BT =nTfRT |

(B) e Sftem & T HHM & | E5E

(C) hIcT <hl WTHT el W h 3% &l | E’%ﬁf

(D) hferdT sheuT STd | fereror T8 Sl # |

Toremeft @€l & @ foid 3R 39 i@ whierel § i forehd 3q STmawsss & —

(A)  3teameh el fe1fu, wreq 3TR st T 3t Tfgai <l L hid 1@ |

(B) 3781 oiEH i WX STEITH @ st ST |

(C) feremefl < |1 wRYfd =aER & o 9w |

(D) heT | Ifad Brier e sht 3UeTT <t 9 |

ferganeff # ua wivret feenfira s &g St U &

(A) TEIHT H T T&deh o, Teq 3T 7T strerseres arft @it w1 31aer fean S |
(B) 319 gRT STRYSROT <1 &1 &1 i1 I |

(C) Taameft arefg wreg I=mon i 3uem i < |

(D) 3TEATI GRT Y TGN Tl fohall I |
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fferiga o & wrquT fe=dt Regor 1 g 2

(A) ST fafy <t srasesan | (B) Uil shi 3ferehen

(C) S REEE! &1 3E (D) &= I&ha |1 ! 9 T8 & |
e o | s freor wgfa & watait w= 2

(A) edfed (B) UTEH-T&h

(ORPEEIE (D) 3eT

frafarfaa 0 9 e fomiw wenr vt s et wned @ freent adum 1 feaemer Rreor 9 weifees
I S B I TSI AT TETR

(A) = (B) i E%g
(C) 3R BT ToeeX (D) UTtehTET [

ST foreror & gro ferenfeiii o W S v wiver qen 3R s v srfigfae 6 feRa
forehTar 5311 7, 3Hh! ATUferd ST ITed hid 2 hH U QI BRI HH B § 7

(A) IER - TR (B) T ufteds - faferean

(C) 3reused - foamu (D) T TR ATIT I STed AT shi ST

Ty T318707 o &35 T WU <Y Faitereh AT § off S arett faf st am @ —
(A) Ferems (B) ulian fafy
(C) I ulem (D) WTEATcH

Il foreneff HEARISH ¥ 59 @ 81, e ! TR ITeh! & Jhg 8l Wl &I, I FIgR § JAT
aied 81 w1 R, at Freferiad Rrerr shror gaeH =iy ;

(A) ToraTeTes 3gEYM | (B) 3U=RIcHe freqor |
(C) SIS U138 FISHT o1 HUM | (D) ferarer famtor wfufa |

Fraferiad T 6 AU 9 Y G 51 F 60 Gk o I S

“geft Sied T Fedt & TR g@ e ¥ & & I 2 | i FrRiwei § g@ a1 g@ i S

FTf Bl B, T I & SR B Sl B | i % W gAR g @ R U oh) el A1 g Y e
H s SR ‘311! AT fIehel UedT 8 | 3T T8 o 31 Sl Tehdl h! HeTIal ¥ §0 3194 fo=Im i e
T % ToTT HTST 61 W oid & | 78 d1 g3 diash siireafe o o1d | 319 fafaa sfireafead s forg
T aTfeT o fomImi sl ShusrgAT <ot WTall o 3Tehel MTHT T SN i | Ig T 3T Trse forem
T TR L | 3 IR UHT BT 8 foh 89 Hied o1 5gd & TR 3ieh & for@ =& urd | 35k fore wedt vget
Torelt oft fowr Tt g wehmvTa @ fomaH -1 <l St gt @ | TR 98t faeae wra gur feum ® aitem
Bl ST 2, T T o 3Tehc] YTeal ol AT fohaT SITT & 3T 99T 3 ¥eR for@n Sirar g |7
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51. @ifehd ‘GAfet g &I 8 —

(A) 313 (B) HeA™
(C) Yfeer (D) Termmo
52. ‘3%l o faaim g —
(A) Yfdea B) fawm
(C) fafvea (D) 3TIFRTH
53. ‘fo=a’ vrec o1 T Gi-fo=se @ -
(A) Fod + (B) Fom +d
(C) e+ (D) T+
54. ‘sffireafad amTiies v o guTe ffga @ -
(A) Tg1 (B) 3TewRivE
C) %% (D) wgshife
55. ﬁ%ﬁﬁ@mm% OO
(A) femm (B) WR Eﬁﬁf
(C) R (D) 48
56. ‘SR e % Tl TIHETE @ —
(A) WG, T0T, IUSHA (B) 3T, TUT, SR
(C) 3, smienmE, anfer (D) 37T, IR, USed
57. FEUATEN AR ATE IR T
(A) T (B) T
(C) Tise (D) dfse
58. ‘379 fo=Imi ol Yehe i o fu R Aream AT HgI id 8 — 38 had 8
(A) SH-Tud (B) T
(C) W (D) WTETIRfd
59, frefaRed § & e o A8 2
(A) 9 (B) @
(C) ¥rard (D) wmH

60. ‘AT < F9 BAR Hg § F TH I @ A1 g@ i HeAT H g 91 3 | A1 HpA vear g |
T@ifehd g & —
(A) STfceTeres G (B) 39
(C) Uerddaraeh &l (D) wAfaTaTES
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SECTION - 11
LANGUAGE -1
ENGLISH
There are 30 questions in all in this Section.
All questions are compulsory.

Choose the sentence which is correct in structure :
(A) How does the world tending to become a unity ?
(B) How is the world tending to become a unity ?
(C) How will the world tending to become a unity ?
(D) How did the world tending to become a unity ?

Choose the correct option to fill the blank in the sentence given below :

The wounded man by some boys.
(A) were being helped (B) are being helped
(C) was being helped (D) will being helped

He said, ‘Be quiet and listen to my words’. Choose the correct option to complete indirect
speech of the above sentence using phrase given below :

He urged them

(A) be quiet and listen to his words ~ (B) to be quiet and listen to my words

(C) that be quiet and listen to his words (D) to be quiet and listen to his words

Choose the nasal’s sounds :

(A) |m,n,q| B) [Lp,t] ]
©) |w,j,z] (D) 16,0,[| Q;&g
Choose the correct phonetic transcription for the word ‘Kimberlite’ : (el
(A) |‘Kimoblart] (B) |‘Kimbolart]

(C) |‘Kimbarlarnt| (D) |‘Kimbolaoit]

Grouping and sequence are involved in the principles of

(A) Habit formation (B) Follow the natural way

(C) Controlled vocabulary (D) Gradation

The teaching material should be in accordance with the mental age and should have
relevance in real life situations. It is main characteristic of :

(A) Principles of Selection (B) Principles of Habit formation

(C) Principles of Gradation (D) Principles of Controlled vocabulary

In which method Mother tongue dominates in the teaching of English ?
(A) Direct method (B) Dr. Michael West’s New method
(C) Translation cum Grammar method (D) Audio-Visual method

Dr. Michael West’s New Method is based on the principle :

(A) Priority of reading, separate provision for readers

(B) Priority of writing, speaking

(C) Priority of speaking, writing

(D) Priority of writing, separate provision for writers

Which one of these is not related to the Direct Method of teaching English ?

(A) It is Natural Method also.

(B) It is Mother’s Method also.

(C) It was approved and spread by International Phonetic Association of France.
(D) This method consider visual appeal over aural — oral.
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Which type of reading is also known as rapid reading or independent silent reading ?
(A) Extensive reading (B) Intensive reading
(C) Library reading (D) Loud reading
Which one of these is not the method of teaching writing ?
(A) Tracing method (B) Free imitation method
(C) Intensive writing method (D) F.G. French’s method
Reproduction technique, Role play and Performance are the main techniques for :
(A) Reading skill (B) Writing skill
(C) Speaking skill (D) Listening and understanding skills
The speaking and listening skills are developed by using :
(A) Flannel Boards (B) Pictures
(C) Film strips (D) Record-player
Language laboratory is a very popular technical innovation. It is derived from :
(A) United Kingdom (B) America
(C) France (D) Germany
Which one of these is not a Quantitative Techniques of Evaluation ?
(A) Oral Techniques (B) Observation Techniques
(C) Practical Techniques (D) Written Techniques
The technique of evaluation that includes certain statements of Yes and No type is :
(A) Check list (B) Observation techniques
(C) Rating scale (D) Anecdotal records
Which one of these is not a function of CCE ? )
(A) Children can know their strengths and weaknesses. @%@
(B) It provides the child a realistic self-assessment. =T

(C) It does not help teacher to organise effective teaching strategies.
(D) It helps in identifying changes in attitudes and value systems.

One of these is a feature of formative assessment :

(A) Itis an assessment of learning.

(B) Itis a diagnostic and remedial.

(C) Itis the most traditional way of evaluating students’ work.
(D) Itis generally taken by students at the end of a unit.

Functions of evaluation are :
(A) Diagnosis, motivation (B) Diagnosis, prediction
(C) Motivation, understanding (D) Teaching, learning

Read the passage and answer the questions (Q. Nos. 51 to 55) that follow :

Why do people get stressed ? Adolescents are faced with the demands of their
developmental task and that of a complex society. They need to acquire skills of adjustment
to emerge into adulthood unaffected by these demands. If they lack these skills or if too
many demands are made on them, they fail. Students are anxious, as they are worried about
whether they would be able to live up to the expectations of their peers, parents and teachers.
Optimal anxiety motivates and keeps them ahead while over-anxiety is disabling.

Anxiety is contagious and passes onto other students, teachers and parents. Adolescents,
when stressed out, tend to perceive everything as an emergency.
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Choose the Synonym for the word ‘emergency’ :
(A) exogamy (B) exigency
(C) exequy (D) exemplary
Choose the Antonym for the word ‘optimal’ :
(A) enamel (B) decimal
(C) unideal (D) imaginable
Choose the misspelt word : @%@
(A) percepsion (B) motivation [T
(C) complexion (D) paternal
Noun for the word ‘developmental” will be :
(A) develop (B) developing
(C) developed (D) development
Choose one word for ‘a disease spread by direct or indirect contact of people or organism’:
(A) complexity disease (B) stress disease
(C) contagious disease (D) fever disease

Read the passage and answer the questions (Q. Nos. 56 to 60) that follow :

Education as commonly understood by people means acquiring certain knowledge
and skills in order to earn their living. But that is only one purpose of education. You may
ask why ? This is because humans are much more than just wage-earning machines. They
are endowed with emotions and feelings which enrich their life. These emotions and
feelings need to be developed so that they can develop into social beings, able to interact
with fellow beings who are also members of that society of which they are a part.

........ in order to earn their living. Here living is :

(A) anoun (B) anadverb

(C) an adjective (D) averb

Choose compound adjective from the phrase ‘wage-earning machines’.
(A) wage (B) earning — machines

(C) machines (D) wage — earning

Which of the following phrases has a determiner in it ?

(A) acquiring knowledge (B) They are endowed

(C) humans are much more than (D) You may ask why ?

‘Education as commonly understood by people means acquiring certain knowledge and
skills in order to earn their living.’

Which tense is used in the above sentence ?

(A) Present indefinite (B) Past indefinite

(C) Past perfect (D) Present perfect

Which of the following has the three degrees of the adjective in their correct form ?
(A) common, more common, most common

(B) common, commoner, commonest

(C) common, commoner, commoniest

(D) common, commoneer, commoniest
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SECTION - 111
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Choose the correct modal auxiliary to fill the blank :

You improve your spelling. (necessity / obligation)
(A) should (B) must
(C) can (D) might

What’s the good of entering into negotiations with ‘a man of straw’ ? Here ‘a man of straw’
means :

(A) aman of no substance or consequence.(B) a man who is made of straw.
(C) aman who is light in weight. (D) aman who strays here and there.

A poem that has 14 lines, each usually containing 10 syllables, and a fixed pattern of thyme
is known as :

(A) AnElegy (B) Limerick
(C) Ode (D) Sonnet

On the approach of a policeman the bully ‘showed a clean pair of heels’. Here ‘showed a
clean pair of heels’ means :

(A) ready to clarify (B) he showed his shoes

(C) ran away (D) walked away

Which one of these does not belong to an elegy ?

(A) asadpoem (B) mourning poem

(C) emotional poem (D) ajoyful poem

Choose the bilabial consonants : .
(A) |pbl (B) |td| =
© [tJ] (D) kgl BEE
Which is lateral consonant ?

(A) |m] ®) 1]

(C) [n] D) |w]

The symbol of underlined letters in the word ‘Ship’ is :

(A) Sh B) S

© J D) 6

Phonetic transcription for the word ‘jute’ is :

(A) |owt| B) | dsut|

©) [jut] (D) |zut]

Phonetic transcription for the word ‘wreathe’ is :

(A) |ri:0] (B) | wri:th|

(C) | wrid | (D) |reoth |

“Important principles may and must be flexible.” Who quoted this ?

(A) Woods (B) Washington

(C) William Weak (D) Whitestone
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Natural order of learning a language is :

(A) speaking, listening, writing and reading.

(B) listening, writing, speaking and reading.

(C) listening, speaking, reading and writing.

(D) speaking, listening, reading and writing.

Which one of these is not an element of communicative approach ?
(A) Communicative approach is practical in use.

(B) It develops the speech ability.

(C) Itis not practical in use.

(D) It lays stress on the functional value of the language.

Which is the latest application of teaching language ?
(A) Structural approach (B) Communicative approach
(C) Project approach (D) Inductive — Deductive approach

Choose one of these which is not a remedy to resolve the challenges of teaching English :
(A) Provide certified and qualified teachers. (B)  Building Rapport
(C) Building Confidence (D) Use only one method of teaching.

Which one of these is not an advantage of online remedial education ?
(A) Gives a sense of isolation to the learner.

(B) Elimination of barriers of time and space.

(C) Itis cost-effective.

(D) The instruction pace is flexible.

Which one of these is a disadvantage of online remedial education ?

(A) It is easy for the student to navigate information.

(B) No technical support from the instructor.

(C) A well designed online course makes it easy.

(D) None ®EmE

Continuous evaluation is basically : &%ﬁf

(A) formative in nature and is school based. ”

(B) summative in nature and is school based.

(C) formative in nature and teacher based.

(D) summative in nature and teacher based.

Which one of these is not a merit of Group Evaluation ?

(A) Different learning styles cannot be evaluated.

(B) Students learn in cooperative manner as they help one another in a group.

(C) A healthy competition in a group motivates them to learn.

(D) None

Summative evaluations :

(A) Provide the information on improving a product or a process.

(B) Provide information of short term effectiveness or long term impact for deciding the
adoption of a product or process.

(C) Provide information about teachers and what they teach in the classes.

(D) None

Read the following passage and answer the questions(Q. Nos. 81-85) :

Lack of control by parents is also harmful. If parents do not impose any constraints on the
adolescents, then they have a tendency to go astray and choose the wrong path, and later
become difficult to discipline. Such adolescents feel let down and think that nobody cares for
them. Hence some discipline from parents is necessary.
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¢ ’ may be an appropriate title for the given extract.
(A) Discipline (B) Adolescence
(C) Lack of control (D) Tendency to go astray
Fill in the blanks with appropriate linking devices which are given below (for Q. Nos. 82-83) :
adolescents their friends feel let down and think that nobody cares for them.
(A) Both—and (B) As-—as
(C) So-and (D) Though —and
They have a tendency to go astray to choose the wrong path. (According to
the passage)
(A) neither —nor (B) either — or
(C) not only — but also (D) so—as
Adolescent as well as his friends let down and think that nobody cares for them.
Choose the appropriate verb to fill the blank in the above sentence :
(A) feel (B) feels
(C) 1s feel (D) will be feel
If a Guardian not impose any constraints on the adolescents, then they have a

tendency to go astray.

Choose the correct option to fill the blank :

(A) have (B) are

(C) do (D) does

Read the following stanza and answer the questions (Q. Nos. 86-87) :

‘Give me a flower delicious as the rose
And stately as the lily in her pride’ —

But of what colour ?° — ‘Rose-red’, Love first chose, E5E

Then prayed — ‘No, lily — white — or, ‘both provide;’ &%ﬁj

Choose the correct rhyme scheme in the above stanza :

(A) aabb (B) abab

(C) abba (D) abecd

‘Give me a flower delicious as the rose ........ > Which figure of speech is used in this line ?
(A) Metaphor (B) Assonance

(C) Epithet (D) Simile

Richard was a lion in the fight.

Which literary device is used in the above line ?

(A) Simile (B) Metaphor

(C) Personification (D) Alliteration
Choose the correct figure of speech in the lines given below :
Pride goeth forth on horseback, grand and gay,

But cometh back on foot, and begs its way.

(A) Personification (B) Simile

(C) Metaphor (D) None

“Betty Botter bought some butter .......... ”

Which figure of speech used in the above line ?

(A) Simile (B) Personification
(C) Alliteration (D) Metaphor
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78.  HIUS 121 HI2 SUL ULEAAL GUuRdL AR 6 ¢

(A)  AHUGYsAL RilaAl (B) Aslare-l
(C) w{RAL (D) [[RlawAl

79, ARl Add HeUIsA HI2 53 (Ll 1L 8 ¢
(A)  Ucld HEAUls QAL i AU 8.
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(C)  Udd Hels 2 [Rlatel wgld €.
(D) d 2[5 242 8.

80. M upiAl R2UAL $3cll dvd Al 58 Cllotde v AR ¢
(A) Sl [RURGAA WA USSR (B)  [AMUdR, UM RS 21
(C)  [aeuall, wiseryras 21 2181 (D) SRS, Bl 244 U USR

A2 AL ABULAL AR UPASHIS 81 20 834 o¥ellod AL :

AHA HOR & ‘AHEL AL 21 7 ¥ IR 2AlAE H2A S A AN d AB-EL AL BARL WRAL
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SECTION-1V / @Ug - IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social

Studies as selected in the Online Application Form and answer all the 60 questions.
39 @Us 1 ¢ Iu@vg 31fd IV(a) fvra aen fagm wa 1V (b) |mftes stea@m & | gFi 3T@vel &
T T 60 TgfIshed1d 99 |

wireneff b1 IV (a) nifora aen famm 32 IV (b) |mnfres steaem, faest 99  31ersa 3TmeeT-ua |
feran 7, O 9 forelt weh Su@vg 1 AT 8 Td Tt 60 IIT BT IR ST R | -

SECTION-IV (a) / @UE — IV (a)
MATHEMATICS AND SCIENCE / 7fota qen fasm

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

TGS A Fo 60 T 7 | T sreafofa 3 g o w1 = foban 2 32 Tef) wrom e e 2

3 3
91. If 10 bart of a pipe is in mud, 3 part in water and remaining 5 metre above the water

surface, then the length of the pipe will be :
(A) 15m (B) 60m
(C) 30m (D) 50m

aﬁ@waﬂf—omaﬁ%ﬁ,%wﬁﬁwﬁqsﬁaqﬁﬁwﬁwﬁ,aﬁw
ﬁmlg_&ﬁ"'ﬁ

(A) 157X (B) 60 i

(C) 30X (D) 50X

92. The present population of a town is 5000. If there is a decrease of 10% in the population
every year, then the population after 2 years will be :

(A) 4500 (B) 4050
(C) 4000 (D) 3500

Teh TR ohl IAHM SHEEIT 5000 & | Fie SEEAT H Afqas 10% shi 1 &1, di 2 99 =1e 6
ST B

(A) 4500 (B) 4050

(C) 4000 (D) 3500



93.

94.

9s.

96.

97.

(66)
What should be added to each term of the ratio 16 : 25 so that the ratio becomes 2 : 3 ?
(A) 3 B) 1
<€ 2 (D) 4
AT 16 : 25 o Teh I¢ H T AT 91T foh I8 A 2 : 3 B S 7
(A) 3 B) 1
€ 2 (D) 4

A quadrilateral whose four sides and angles are equal to each other is known as

(A) Square (B) Rectangle

(C) Rhombus (D) Parallelogram
Ty foraeht =i gemd 37 101 T SR &1, I8 HEelldl @ :
() =i (B) 3

(C) e (D) TR =gH
The ratio of the length of the side of a square and its diagonal is
(A) 3:42 (B) 1:12

(©) \2:2 D) \2:1

it Y YISl U 3 fehul Sl AaTE 1 AU B

(A) 3:42 (B) 1:42

C€) 2 :2 (D) 2 :1

The sum of two sides of a triangle with the third side is

(A) greater
(C) equal

(B) small
(D) None of these

Tereht Bregat 1 1 o3t <1 A0 et YT W FaT |

(A) SsI
(C) =T

(B) B
(D) 398 @ IS T

PL-2

The volume of a cuboid is 440 cm?® and the area of its base is 88 cm?, then the height of

the cuboid will be
(A) 3cm
(C) 6cm

(B) 2.5cm
(D) S5cm

Teh IATH 1 TG 440 o T} 8 3TR 38 TR T &% 88 o1 THT B, ol BT <hl =g

ghft
(A) 3o
(C) 6o

(B) 2.5
(D) 5o
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98.

99.

100.

101.

102.

(67)
The number of diagonals in a cube is
(A) 2 (B) 4
€ 5 (D) 6
T o | forshult <l ST B &
(A) 2 (B) 4
<€ 5 D) 6

If the height of a cylinder is 11 ¢cm and the curved surface area is 968 cm?, then the radius
of the cylinder will be

(A) 10cm (B) 1lcm
(C) l4cm (D) 8cm
e Teh oo i HaATS 11 T 3R T3k I3 T &F%e 968 I T 2, df oo <hi Brsem gt
(A) 109 (B) 1139
(C) 14 (D) guHt
The arrangement of presenting the data in columns and rows in a sequential form is called
(A) Classification (B) Tabulation
(C) Presentation (D) Analysis
THhT I GHI q2T Ui § shAeg §9 H TEd i ohi TN haalldl & -
(A) ffeRtor (B) ®ROiEA
[E]75 ]
(C) TRt (D) ferzermm &%ﬁ
Which of the following is not a source of secondary data ?
(A) Magazines (B) Official report
(C) Self survey (D) Data stored on the internet
11 5 | S 1 fgeiaes 91 7107 Afehel 1 |id T8l & ?
(A) URRIE (B) TN wiaaed

(C) =afed gra T fopan TR T (D) 3T W Tufea 3AThg

With the observation of frequency polygon, which of the following can be found out ?

(A) Mode (B) Median

(C) Mean (D) Standard deviation
I TGS o STl 8 FfeTiad H & 91 T fohan ST dehal g ?
(A) &S (B) et

(C) w1 (D) T oo



A
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104.

105.

106.
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When two dice are tossed simultaneously, the probability that the sum of the numbers
appearing on both the dice is 8 will be

1 1

A % B) 3%
5 7

© 35 D) 3%

Tl UTHI 1 Th |1 IBTA T GHI ITET T AT FTelt HEIT3T 61 AR § B <hl JTTrehdl BT -
1 1

A % B) 3%

© 3% D) 3¢ m5m
36 36 3

The knowledge of Mathematics is

(A) Exact (B) Logical

(C) Systematic (D) All of these

TTford 1 BICH @Tﬂ % :

(A) T (B) dfhe

(C) hHsg (D) & @t

“Mathematics is the giving of same name to different things.” This statement is said by

(A) Henry Poincare (B) Roser Banken
(C) Berthlot (D) Benzamin Peirce
“faf¥r=1 IEq 3Tl ! FHM T8 <1 8 T 8 |7 98 YA fohd el ?
(A) T AR (B) USRSk

(C) wdare (D) ST foere

Which of the following statements is not related to the reason for giving special place to
Mathematics in the curriculum ?

(A) Mathematics is an exact Science.

(B) Mathematics generates logical attitude in children.
(C) Mathematics is not for ordinary people.

(D) The language of Mathematics is universal.

71 T @ 1 T1 HH T T I TshA T TS T S o RO § FEa T8 @ 7
(A) TIoTd T e forsr 2 |

(B) TIfOrd st & tfeheh gfecshion et i B |

(C)  TITOTe = i o fr i 2 |

(D) TTfoTa <t TS Hreifies B # |
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107.

108.

109.

110.

111.

(69)
Mathematics teaching is useful :
(A) Insocial development (B) In practical life
(C) Inintellectual development (D) In all of these
Tiforer fareqor SuEnf Erar R -
(A) TR fomhmE o (B) SEEI Siaq |
(C) difgs famm (D) At H
The word ‘curriculum’ is originated from
(A) Latin language (B) French language
(C) German language (D) None of these
FlpeT’ (TIGHH) T h1 ST S 2 -
(A) AfeT v (B) hd W H
(C) T wTeT | (D) T HIE T
‘William Kilpatrick’ is the founder of which method of teaching mathematics ?
(A) Lecture method (B) Demonstration method
(C) Project method (D) Analytical method
“Tarferem feperdfeen’ Tiora fireror 1 ford Tgfd o Twem® 8 ¢
(A) e fafu (B) wex fafy
(C) ST fafy (D) fowerfyes fafa

Which teaching method follows the principles of ‘Learning by doing’ and ‘Learning by
observation’ ?

(A) Inductive method (B) Laboratory method

(C) Deductive method (D) None of these

foper Torequr fafer & “oheeh Efia’ 37 “Sraretien g Eiaan fagra o aTerT gt 2 7
(A) AT fafy (B) SmTSITeT farfyy

(C) T fafy (D) T HIE T

Characteristics of a good test is

(A) Validity (B) Objectivity
(C) Reliability (D) All of these
Teh 370 U110 <l feriwan 2 -

(A) Ay (B) a&g(sad

(C) Teragfaan (D) T EH
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113.

114.

115.
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In which type of teaching “The main purpose is the development of effective techniques
for the correction of error in all types of learning” ?

(A) Diagnostic (B) Remedial

(C) Achievement (D) None of these

Tore Tohr o Trero § “afenm Teedt et i 3G H o ford wTamTett fafem w1 fasm e

T I B 7

A) Ferems (B) IUINIHS
(C) 3Iyafsy (D) T4 T Hig T&l

In the teaching and learning of mathematics, the use of teaching aids helps in :

(A) Making teaching joyful. (B) Making contents interesting.
(C) Maintaining class discipline. (D) All of these
Trfora fRregor 3R 3tferma # freqor e At TR il | -

(A) Trau s ias T =T | (B) fowa-=g ol B S H |
(C) <he H T § 1 W@ § | (D) smfiH

1 ) 1 -2 1 -2
The value of (—j x(—j X(_j is
2 3 4

(A) -576 (B) 576 Eﬁ%
(C) 144 (D) 288
5+ )

2 3 4

(A) -576 (B) 576

(C) 144 (D) 288

3
The sum of two numbers is 15. If the sum of their reciprocals is 10° then the larger number is

(A) 15 (B) 20
(€) 10 (D) 25

. . . 3 .
amﬁwﬁnlsélaﬁmwﬁwaﬁﬁ g, A S HE R
(A) 15 (B) 20

© 10 (D) 25
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116. Which of the following is correct ?

(A) Dividend = Divisor x Quotient + Remainder

(B) Dividend = Divisor + Quotient x Remainder

(C) Divisor = Dividend % Quotient + Remainder

(D) Remainder = Dividend % Divisor + Quotient

fadaade:

(A) 9T =N x YITHA + AThA  (B) WIS = WTSTeh + ANTheA x TG
(C) YTSlh = WTST x WTTHhSA +ATHA (D)  ITHeA = WIS x WSl + HHThHA

117. The value of /176 +4/2401 is

(A) 49 (B) 6.08

(C) 25 (D) 15

V176 +/2401 HTAAR :

(A) 49 (B) 6.08

(C) 25 (D) 15 OFAD]
118. If 27~ 1 = (243)3, then the value of x is

(A) 3 B) 4

© 2 D) 5

fg 272 - D= (2433 A, AW x FIAF & :

(A) 3 B) 4

©) 2 D) 5

119. If the simple interest on ¥ 600 for 4 years and the simple interest on I 600 for 2 years
together amounts to ¥ 180, then the rate of interest will be :

(A) 4% B) 5%
(C) 5.5% (D) 6%
Ffe T 600 T 4 IH HT ARV TS 37 T 600 HT 2 T HT ARV ST THeATeht et T 180 &,
(A) 4% (B) 5%
(C) 5.5% (D) 6%

120. If the side of a square is increased by 50%, then by what percent will its area increase ?

(A) 75% (B) 100%
C) 125% (D) 150%
e fereht at 1 ST 1 50% weT fean SR, q 35k &hat | fohaw wfoera 1 gfg = et 2
(A) 75% (B) 100%

©) 125% (D) 150%



121.

122.

123.

124.

(72)

Which of the following is not correct for ‘evaluation’ ?
(A) It is an integral part of teaching process.

(B) It is more objective, reliable & valid.

(C) Its area is limited.

(D) Diagnostic and remedial teaching is possible through this.
Freiifrn § & “Geaioh b fore o Tl b T B 7

(A) I Treror ufsran w1 srfir= 3m 2 |

(B) g 3feh aegfTss, fovamfimaundu 2 |

(C) 38! &= HHA S |

EiE
(D) 35% g FremTeTe qeT =R e wwE § | i
Example of thermoplastic among the following is
(A) Bakelite (B) Melamine
(C) Polythene (D) Urea-formaldehyde resin
frfafaa 9 & uwiwTiees &1 3qa & -
(A) Sherse (B) HATHTA
(C) it (D) IIT-widfceeaTss {H
Monoatomic molecule among the following is
(A) Argon (B) Hydrogen
(C) Oxygen (D) Ozone
freferfiea § & TehuRHTI® 370] § —
(A) 3 (B) ETEgSH
(C) 3Tafie (D) 3TA

Chemical formula of magnesium phosphate is

(A) MgPO, (B) Mg,(PO,),
(C) Mg,(PO,), (D) Mg(PO,,
iy wiehe T TERIS T § —

(A) MgPO, (B) Mg,(PO,),

©) Mg3(PO4)2 (D) Mg(PO4)2

PL-2
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125.

126.

127.

128.

129.

(73)
The process used to separate grain from stalks is
(A) Hand picking (B) Threshing
(C) Sublimation (D) Sieving
T Ui 1 SfTT | STTRUI Sl 9Ueh FHH H Y TRAT 8 —
(A) B I (B) ufam
(C) et (D) =T
Natural indicator among the following is
(A) Litmus (B) Phenolphthalein
(C) Methyl orange (D) Methyl red
freferfaa o @ wTehfae g 8 —
(A) Toremg (B) Thateradferm
(C) wfYe 3 (D) AR E
Inexhaustible natural resource among the following is
(A) Forest (B) Coal
(C) Natural gas (D) Sunlight
ffTRad # & 1R STepfeh HETe 8 —
(A) T (B) e msgm
(C) Thide 4 (D) 3 1 TR Cilla2
Example of co-curricular activity in Science teaching is
(A) Chart (B) Model
(C) Bulletin board (D) Science club
Torsa freqor & urg™ Tt fokan 1 3gTETT @ —
(A) = (B) wisd
(C) TRATE (D) Tom F=
Which class of plants is called “Amphibians of the plant kingdom™ ?
(A) Pteridophyta (B) Gymnosperms
(C) Bryophytes (D) Angiosperms
form ot < derl BT “uTey ST o 3w HET AT R 7
(A) 2REmEe (B) Toeiremd

(C) THEHE RUER
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131.

132.

133.

134.
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Which of the following is a non — infectious disease ?

(A) AIDS (B) Cancer

(C) Corona (D) Common cold
= 8 9 SRS T AT R ?

(A) TeH (B) hER

(C) SHRMAT (D) G M

In which stage of cell division synaptonemal complex is formed ?

(A) Prophase (B) Prophase II
(C) Prophase (D) None of these
IRt favtem # fweifme aftry w1 fmfo o @ sEren g g g ?
(A) qataE ] (B) aterwer 11
(C) e (D) 38§ HIS &
Fossil fuels are
(A) Renewable source of energy (B) Non-renewable source of energy
(C) Both (A) and (B) (D) None of these
Sfrarerft Sum 8
(A) Tt ol T TehT0T HId (B) il bl I TehT0NT &I
(©) (A)F(B)TH (D) & R TE
Ganga Action Plan — Phase | was launched in
EiE
(A) 1987 (B) 1985 ek
(C) 1989 (D) 1984 ﬁ%‘?
T T GRETSHT — =0T [ 3T 3TRY §3TT
(A) 19874 (B) 19854
(C) 19891 (D) 19841

Which bacterium causes gonorrhoea disease ?

(A) Mycobacterium tuberculosis (B) Corynebacterium diphtheriae
(C) Mycobacterium leprae (D) Neisseria gonorrhoeae
S U ST H GTreh W B8 ?

(A) TTSHISFINEH TYERAH (B) hRHSwITEm fewekiam
(C) UTghIaa T ol (D) gt mHfaEms
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135.

136.

137.

138.

139.

(75)
Which type of mammary glands are present in human female ?
(A) Apocrine (B) Merocrine
(C) Holocrine (D) Eccrine
HIGT TG H ¥ U™ ShiH 8 TR i IR STt & 7
(A) TSI (B) sk
(C) Biellshred (D) Thrsd
Disease caused by deficiency of Vitamin — C (Ascorbic acid) is
(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets E%E
fearerfim-i (C) (uehifdes Tffe) M HM A ER AT AT R : &%ﬁf
(A) Tt (B) sh-sh
(C) @t (D) frehem
In which phase of cell division process of synapsis occurs ?
(A) Pachytene (B) Zygotene
(C) Diplotene (D) Diakinesis
SHITITRT fereTott sht 6t =t srereen | fafoerg < ufsrn gt 8 2
(A) UehigfeA (B) eI
(C) fewtfen (D) SHHERE
When medical termination of pregnancy was legally approved in India ?
(A) 1947 (B) 1971
(C) 1958 (D) 1960
Ra # fafercefta wmyfar amm w1 S =il w8 em Hi T 7
(A) 1947 (B) 1971
(C) 1958 (D) 1960

Where is the institute that developed ‘Saheli’, a contraceptive pill, located in India ?

(A) Bangalore (B) Ahmedabad

(C) Lucknow (D) Chennai

‘TRAl Tk T - FA0ereh et 1 fererfira i aTet TR, WRa 3 el fa g ¢
(A) SR (B) 3TEHeTE

(C) &S (D) =3
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Example of Rabi crop is
(A) Wheat (B) Groundnut
(C) Maize (D) Soyabean
T Sl HE T 3G & —
(a) T (B) et =4
(C) werhl (D) WA e

Which teaching method was popularized by G. Stanley Hall ?

(A) Psychometric method (B) Anecdote method
(C) Questionnaire method (D) Case-history method
. Wt gt § B i e s 1 el w2

(A) T ferfer (B) e fafy

(C) wreTerett ferfer (D) =AfFI-3hre™ fafa

Characteristics of continuous and comprehensive evaluation is

(A) Durational aspect (B) Continuity
(C) Omniversal development (D) All of these
TAd e SIUTeh Yoo hi forRivar & —

(A) 3o T8 (B) e
(C) wemE famm (D) T@Ef

Which of the following is not an advantage of teaching aids ?

(A) Expensive material (B) Motivation and interest

(C) Effective for slow learner (D) More efficient learning possible
freferRaa & & = @1 Rreor-wgme qmf w1 aw T R 2

(A) TE arft (B) oM o Trrehall

(C) Tuse sretehi o fore yumeft (D) ¥3e M ! JIfed Fva
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(77 A

Which of the following is not a correct example of muscular force ?
(A) A person lifting a bucket of water placed on the ground with both his hands.
(B) A person lifting a book on the table with both his hands.

(C) A person stops rowing a boat with both his hands then boat stops after travelling
some distance in the water.

(D) A person pushing a table placed on the floor with both his hands.
fatifena o & b |1 Usfi o 1 T S A R 7

(A) Tortht safea g 1o ST g1l | A W T a Sl dTedt Sl 33T |

(B) Tortht safard gr 379 g1 g1l | B W Tt U Tdeh bl ISMT |

(C) Toreit safar g 370 ST BT & A6l T 91 U G W, AT <l THT 1 % gl =Icteht ek STM |
(D) Toreht saferd grr 319 QAT B1ei | et W Wt TSt bl bt |

If a simple pendulum takes 40 seconds to complete 20 oscillations, then the time period of
the simple pendulum is

(A) 2second (B) 0.2 second

(C) 5second (D) 0.5 second

¢ Th T AT 20 T U HH H 40 HHUE AT &, T T AlcAeh I HTAhIA 3
(A) 2 HHTS (B) 0.2 9%US -

(C) 5EwHTE (D) 0.5 &g %%33

A cold steel spoon is dipped in a cup of hot milk, then its other end -
(A) becomes hot by the process of convection.

(B) becomes hot by the process of radiation.

(C) becomes hot by the process of conduction.

(D) does not become hot.

I hl U 3! THTE % T gH o Y H G- T 3T g8 R
(A) wagd gfshaT g TRy &l ST |

(B) ferfertor ifshan grr e &1 S |

(C) e Sfsha GIT TRA &1 STa |

(D) W &I E |
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147. The image of an object formed by side glass of motor vehicles is -

148.

149.

150.

(A) erect, real and smaller in size than the object.
(B) erect, real and bigger in size than the object.
(C) erect, virtual and smaller in size than the object.

(D) erect, virtual and bigger in size than the object.

et ATt o e g g U areq (ferear) ot wrAren e wferfer g 8 -
(A) e, arEafess aun wrgs 7 a5 (forer) @ ®iet |

(B) i, amfess qer @1gw § axq (fors) @ w72 |

(C) e, sl der TTgst & aq (o) A B | %ﬁ

(D) T, 9T qen A | 9w (fom) 9 52 |

The correct statement for loudness and pitch of the sound in roar of a lion -

(A) Loudness high, Pitch-high (B) Loudness high, Pitch-low
(C) Loudness low, Pitch-low (D) Loudness low, Pitch-high
IR 61 egre § et 6l JaoIdT T dcd & foTu Il 6o & —

(A) YaoTar 31feres, diea AT | (B) YaoTar 31fereh, aied A |

(C) YSAdT ShH, dcd A | (D) JeerdT Y, dicd 3Tfeeh |

Which of the following device is based upon magnetic effect of electric current ?

(A) Electric bulb (B) Electric fuse
(C) Electric bell (D) Electric press
Freiiend ® 9 Torega 9w o Jraehiy INTE T 3THTRA I @
(A) Toea ses (B) TerE@w=
() faga=d (D) fergga vt
Which planet is least dense among the following planets ?
(A) Saturn (B) Mercury

(C) Mars (D) Jupiter
feifeRd 8T & R W1 U Hel FH FEA R ?

(A) wF (B) ¥4

(C) T (D) &edfd
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SECTION-IV(b) / ©UE — IV(b)

SOCIAL STUDIES / |THIGTR 3195

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

30 @ H A 60 T 7 | T arvarfiari 3 5a forwy 1 = fopen 8 32 onft wea s e 2

91. How many sub-committees have been mentioned by Magasthenes to conduct military
activities in the Mauryan administration ?

(A) 4 B) 6
© 8 (D) 10
Brreers 3 /R wremreH | Bfes nifafafm o werer % fore fora su-afufe 1 Seoi@ fra g 7
(A) 4 (B) 6
© 8 (D) 10

92. What was the land donated to Brahmins in the Gupta period called ?

(A) Vellanvagai (B) Shalabhoga
(C) Devadana (D) Agrahara
TeTeRTel H SITETUTT bl ST S € < STt oft 3 & hed 9 7
m0mE
(A) e (B) i
(C) TdeH (D) 3R
93. Which was the capital of the Chalukyas ?
(A) Madurai (B) Amaravati
(C) Bharuch (D) Aihole
TR b1 TALTH B & off 7
(A) R (B) TFrEdt
(C) W= (D) g
94. Who was the first Sultan to visit the “Shrine” of Khwaja Muinuddin Chishti ?
(A) Qutubuddin Aibak (B) Iltutmish
(C) Muhammad bin Tughlaq (D) Alauddin Khilji
TSI geeH faecht 1 “qumg” W 3T JTell Taetl Yo i o7 ?
(A) BT TTh (B) Seqetten

(C) Hewe foH et (D) TAREA Raesit
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The Polaj, Parati, Chachar and Banjar land types belong to which period ?

(A) Maurya (B) Gupta

(C) Sultanate (D) Mughal

TIeTST, T, FTeR 9 &9 fH o SR fohd il § Tefa & 7

(A) T (B) T

(C) Weddad (D) Hied

Which was Akbar’s favourite style of Calligraphy ?

(A) Nastaliq (B) Kufic

(C) Manzil-abadi . (D) Herat EiE
e 1 T B e e e of 7 i
(A) T (B) Fihe

(C) e s (D) &m

Who painted a picture titled “The Relief of Lucknow” about 1857 ?
(A) Marshal (B) Miss Wheeler

(C) Thomas Jones Barker (D) Joseph

“ Tl 31Th T@e,” A1eh o 1857 o fawar § fopa sm 2

(A) T (B) T =EieR

(C) oo ST STt (D) %

Who was the author of the book ‘Gulamgiri’ ?

(A) Dayanand Saraswati (B) Swami Vivekananda
(C) Jyotirao Phule (D) Raja Rammohan Roy
TATRY’ T Tk o oi@eh i 9 7

(A) TIME L&t (B) @@ feraeprg

(C) SAE Fol (D) TS U9HIEA T
‘Family Welfare’ subject is given in which schedule of Constitution of India ?
(A) 4 B) 6

<© 9 (D) 11

IiER Heamr’ fawe YR & Gfaem i ford sTggeh ® fenmn g ¢
(A) 4 B) 6

© 9 (D) 11
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Who has the power to amend Constitution of India ?

(A) Supreme Court (B) Only Lok Sabha
(C) Only Rajya Sabha (D) Parliament

WA o g H FeeE o i wfed fohd w2

(A) S AT B (B) U SAlh BT !
(C) U TSI IAT hl (D) HHE
When is ‘Legal Services Day’ celebrated in India ?

(A) 1 January (B) 10 August

(C) 9 November (D) 10 December
ra | “faferss dar feg” e v ST 2

(A) 1 SHad (B) 10 37T

(C) 9 Tam=R (D) 10 feamsx

State the correct sequence of words mentioned in the Preamble of the Constitution of
India.

(A) Fraternity, Equality, Liberty, Justice. Ei:E

(B) Equality, Liberty, Justice, Fraternity. &%‘?

(C) Liberty, Equality, Justice, Fraternity.

(D) Justice, Liberty, Equality, Fraternity.

T o Hiqe 1 Jefreet § afvta sregi 1wt ST Far |

(A) YT, FHAT, WaAdl, =™ (B) &I, AT, =, SYAl

(C) E&d=dl, GHdT, =T, SYal (D) =TT, T, FHT, S

When was “Protection of Children from Sexual Offences Act (POCSO)” came in force in
India ?

(A) 2008 (B) 2010
(C) 2011 (D) 2012
A § “TifiTeh STIULT & STeTehi 1 TLETUT ST (Tieeh!)” a AN 53T ?
(A) 2008 (B) 2010
(C) 2011 (D) 2012

Which one is not included in ‘Fundamental Duties’ given in Article 51 A ?
(A) To Pay Taxes

(B) To Defend the Country

(C) To Safeguard Public Property

(D) To Develop the Scientific Temper

=1 o @ o o1 19 51 % ° fou ot ey | et T 8 2

(A) U T PTAH R | (B) T HIT@TH |

(C) wTEsTeh Huft sl GLferd W@ | (D) 3AFfeh gfeeshivr ot forepmd i |
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Which Constitutional Amendment determined the size of the Council of Ministers ?

(A) 8l (B) 91
(¢) 101 ‘ (D) 102
forg afqum gumem gra widfg w1 3R faffa forem m 2
(A) 8l (B) 91
(C) 101 (D) 102
‘SVEEP’ is related to
(A) Voters Awareness Programme (B) Rural Swachhta Programme
(C) Urban Swachhta Programme (D) Corruption Control Programme
‘v’ (SVEEP) waferd 2
(A) TAST STReehdl SHTRIsHH (B) TmHivl To=wdl RIHH
(C) &l T hTIshH (D) USER {3 Srisn
‘The Dispute between two States’ is part of which jurisdiction of the Supreme Court ?
(A) Original (B) Appellate
(C) Advisory (D) Writ
“T AT < 7 foare” I=aan <ImTer™ o fohd SRR &1 fee g 7
(A) T (B) 3rdicta
(C) HeIgshi (D) T (af=e)
The ‘Theory of Basic Structure’ was propounded by the judiciary in which case ?
(A) A.K. Gopalan (B) Kesavananda Bharati
(C) S.R. Boomai (D) Golaknath
T a1 1 fagra’ =metforent = fohg are ® fqurfea feram 7
(A) T, MUTEH (B) hIMETE AR
(C) TH.AN. g (D) eI
. . . 0 D)
Which of the following statements is false ? &%ﬁj

(A) The earth is also called a blue planet.

(B) Venus is considered as “Earth’s — twin”.

(C) Saturn is an Inner planet.

(D) Mercury completes one orbit around Sun in 88 days.

A d g s IEa R ?

(A) gt ol fien 7E ot hET ST | |

(B) Ik ! Yl 1 JSal UE HHT ST & |

(C) Tk HAH TR R |

(D) g9, I IR TR Teh THGRAT 88 Tl § U a1 & |

When it is 10.00 AM on 0° longitude, what time will it be at 15° east longitude ?

(A) 11.00 AM (B) 11.00 PM
(C) 10.15 AM (D) 09.45 AM
ST 0° MR T T8 6 10.00 991 18 &, a1 15° Yol gur= T foha a1 90 g0 ?
(A) 9Ta: 11.00 (B) T 11.00

(C) W@ 10.15 (D) WTE: 09.45
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(83)
The place in the crust where the earthquake movement starts is called as —
(A) Focus (B) Epicentre
(C) Vent o (D) Crater
Y-qU & = T8 T T YU TRET BT 7, HEdl & —
(A) STMbZ (B) 3rfereh
(C) T (de) (D) e

Earthquake and Volcano are caused by —
(A) Endogenic forces

(B) Exogenic forces

(C) Endogenic and Exogenic forces
(D) Solar forces

YT TR SATTHE Ffed &M T BRI B —
(A) ST T (B) fesifd ot
(C) JFeifd T Sfgaifa et (D) et se
The Agulhas current flows in which ocean ?
(A) Arctic Ocean (B) Atlantic Ocean
(C) Pacific Ocean (D) Indian Ocean
STETE YR A | FER § JaTfed gt 2 ?
(A) 3Thfeeh HEETR (B) 3TEATNEH HETERR
(C) I HETETR (D) f&< AemmR
Who was the first General of Archaeological Survey of India ?
(A) Lord Cornwallis (B) Sir John Marshall
(C) Alexander Cunningham (D) William Bentinck
TR GO TevT o Tget Fet i 9 ?
(A) TS HiHATAH (B) TN ORI
(C) 3ITARISt Siem (D) foform dfés
OE O]
Which statement is true regarding The Therigatha ? &%ﬁf

L. This is part of Sutta Pitaka.

II.  Isacollection of verses composed by Bhikkhunis.

III.  This is part of Vinay Pitaka.

IV. It provides an insight into women’s social and spritual experiences.
(A) LI 1 B) LI,V

(©) 1L 11, 1v (D) LILIV

SHRTIN & Heg B R A HYT TR 7

I I8 g fues & fgam 2 |

I 39 1 gT Tferd Bl 1 Heher TohaT TR 7 |

1. =% foma fues 1 fem @ |

IV. 399 Afgeral o amiie 3R smenfaies Sdi & an | 3idgfse e 2 |
(A) LIL I B) LI,IV

(C) 11, 1v (D) LILIV



A

116.

117.

118.

119.

120.

(84) PL-2
Vardhman Mahavir belonged to which dynasty ?

(A) Lichchhavis (B) Haryank

(C) Shakya (D) Satavahana

T TR 50 a9 & wefoq o 7

(A) foead (B) &%

(C) = (D) 9rqadrgd

Why Magadha was the first among the Sixteen Mahajanapadas ?
(A) Agriculture was especially productive.

(B) Presence of Iron Mines.

(C) Awvailability of Wild elephant.

(D) All of these

TICTg HETSHye | Wey Jord i o7 7

(A) Tt i 3T =T BT | (B) <@ <h @ B |

(C) SHTeft greft o1 3ueTsd BT | (D) A et

Where is the Harappan site called Lothal located ?

(A) Rajasthan (B) Gujarat

(C) Haryana (D) Kashmir .
AT AT SIS TS el foIq & 7 %ﬁ
(A) ToRAH (B) TSI i
(C) wfwmm (D) TR

Barygaza was the Greek name of which port of ancient India ?

(A) Bharuch (B) Arikamedu

(C) Puhar (D) Madurai

SIS IT=AA WRA o i & SEUITE T A A AT 7

(A) & (B) 3Hfhg

(©) TR (D) =g

Chola inscriptions mention several categories of land. Among them Vellanvagai was
(A) Land of Non-Brahmin Peasant proprietors.

(B) Land gifted to Brahmins.

(C) Land for the maintenance of a school.

(D) Land gifted to temples.

et rfiyerai o fty <t fafy=r snifestt 1 Seorg fireran 2, 376 & “doeaTs” S Hey ot
(A) TrR-simarr e Tt <6 oYy (B) TRV <l 39K | & 715 ufyy
(C) Toreft feremera = wew@ma & fow yft (D)  wfet 1 Swer ® < 78 ofa




PL-2 (85)
121. Match the following :

Festival District
(1) Camel festival (a) Jaisalmer
(2) Desert festival (b) Bikaner
(3) Kite festival (c) Udaipur
(4) Mewar festival (d) Jaipur

m 2 G @
A) b (@ @ (o
B) (@ ®) () (@
© @ (© @ (®
D) (@ ® @ (o
e = gofera hifse
Idq Rren
(1) Se3Iad (a) G
(2) We3IHd (b) THR

(3) UaT IcTd (c) SR
(4) HOEIHE () SRR

Hm @ G @
(A) (b) (@ @ (9
B) (@ (b)) (© (@
© @ (© @ (O
D) (@ b @ (©

[=].d[=l

122. Which of the following statements is false ?
(A) Jawahar Sagar Sanctuary is in Kota, Bundi, Chittorgarh.
(B) Kesar Bagh Wildlife Sanctuary is in Dholpur.
(C) Semi-tropical evergreen forests are also called monsoon forests.
(D) “Kalpvriksh of Rajasthan” is Rohida.
i g T HH TR ?
(A) SETE IR 1WA 1T, §&, feiere § 2 |
(B) hER I S=ISiiel STHIARUT SeTqL H % |
(C) 37g IUThiCHEN TTTER JH1 bl AL o ot hed % |
(D) “TSEI™ &1 heudd” TS 2 |

123. Which is not correctly matched ?

(A) Luni-Jojri (B) Banas — Menal
(C) Mahi — Banganga (D) Chambal — Parvati
I 1 HE GHTT T8 8 ?

(A) ol — SISt (B) SHE — A

(C) HTEI — SR (D) =l — areidl
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Who built the “Varaha temple” at Pushkar near Ajmer ?

(A) AjayRaj (B) Aruno Raj
(C) Vigraharaj IV (D) Prithviraj Chauhan
IR o U feora gt | “arg Hiew” o famior ferem sheama
(A) SIS (B) 3T
(C) fomreers =g (D) e =
Who was the political agent of princely State of Sirohi at the time of 1857 revolt in Rajasthan ?
(A) J.D.Hall (B) Eden
(C) Major Burton (D) Mac Mession
TSR H 1857 <hl Fhift o T TERIg famaad o1 qifctfeshel Toie i o7 ?
(A) &8 (B) A
w5
(C) B (D) i g E‘%ﬁg
Motilal Tejawat was a resident of which village ?
(A) Falasiya (B) Samalia
(C) Colliery (D) Mangarh
HicTeATed e fehd TITdl o fHamet & 2
(A) warE (B) Emfera
(C) Hiferard (D) TG
Which literary work of Kanhaiya Lal Sethia was given Suryamal Mishran Award in 1987 ?
(A) Leeltans (B) Nirgrantha
(C) Dharti Dhora Ri (D) Shabd
1987 w1 FHe s TehR heeamarret aifen i fora arfefees w1 feam w7
(A) AereE B) fofa
(C) ot e & (D) §ag
“Hathal village” is associated with which princely state in the integration of Rajasthan ?
(A) Kishangarh (B) Jhalawar
(C) Pratapgarh (D) Sirohi
“BTUS TG T FEY TSTEA o TShIhor H i &t fIEa A 81 s ?
(A) Treme (B) #AETS

(C) JaHTe (D) T&E
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Governor General Lord William Bentinck named which fort as the second Gibraltar in the
world ?

(A) Mehrangarh (B) Nahargarh

(C) Siwana (D) Taragarh

TR ST Wt Taforem s 3 foret gt ot gfren 1 g fseet waT @ 2
(A) HETHTE (B) EvTE

(C) femmm (D) ARG

Which fair of Rajasthan is called ‘Kumbh of the tribals’ ?

(A) Beneshwar Fair (B) Kaila Devi Fair

(C) Jeen Mata Fair (D) Diggy Fair

“JTfeaTieR 1 9" TSTEA o D & Uel i Hel Il & 7 ——
(A) SUER HeAT (B) <hel coft Tt %%33
(C)  SfrormTar Tet (D) feuft oem

Thamanyo, Thedyo, Aad and Thussi ornaments are worn by women in which part of their
body ?

(A) Head (B) Neck
(C) Hands (D) Waist
(A) fmH (B) w3 H
(C) TUH (D) HHRE

“Maharaja School of Arts and Crafts” was established by which Rajasthani ruler ?

(A) Sawai Jaisingh (B) Sawai Ramsingh

(C) Jagat Singh (D) Jaswant Singh

“TRTST Thel 31 3TTEH U SAIRH” 1 TTHHT Fohdt Toreer 9Treeh gR1 shiamrft it 7
(A) HaTE TaRiE (B) §aTs (HIER

(C) Shrdfes (D) SHEAfdE

“Valar dance” is performed by

(A) Female (B) Male

(C) Male and Female (D) None of these

“grer F” foreeh g R ST B 7

(A) #igm (B) &Y gNI

(C) N aTEIGH (D) 3TH ¥ 1 T
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After attaining which of the following objectives, a student can correct any given error in
amap ?

(A) Gaining Knowledge (B) Development of Understanding

(C) Application of Knowledge (D) Action Skills Development

1 5 & fore ez 1 wor X foremeff foreft Amaferm & ifera oTeIfgai ool 9 FLEHaAT B 7
(A) MM (B) e o1 Ry

(C) TR (D) Tsratcass shiwreti &1 faema

“Education is nothing but the socialization of the younger generation.”
Above mentioned statement is given by which scholar ?

(A) Durkheim (B) Bossing

(C) Aristotle (D) T.P. Nunn

“farert =13 it < TSR & rfafes o TE 8 17 FUT FET TR -

(A) T\ (B) afE g%%
(C) 3IE (D) Ad. T =i
“Model of understanding level of teaching” is also known as

(A) Herbert’s Model (B) Morrison’s Model

(C) Ausubel’s Model (D) Turner’s Teaching Model
“Hied 3Th TSN et 3116 AT 1 36 W & i 1 91 & -
(A) T At (B) Wit digd

(C) e Aigd (D) R At AteA

Which of the following teaching objective is not associated with Benjamin Bloom’s
Cognitive Domain ?

(A) Knowledge (B) Receiving

(C) Analysis (D) Evaluation
71 | ST Se o ST 98T § TRf-d shid 9 frerr Sevd E 8 7
(A) IH (B) 3AremrEw

(C) fereromm (D) TeATHT

According to the nature of instructional method, project method belongs to —
(A) TCI (Teacher Controlled Instruction)

(B) LCI (Learner Controlled Instruction)

(C) T-LCI (Interactive Procedure Instruction)

(D) GCI (Group Controlled Instruction)

ITCRM Tk eh oh ThId o STTAR ITAISHT Tl T~ 8 -

(A) A .5.31E. (reames fRfa STgee)

(B) ue.H.3mg. (Rrameff frafra smeem)

(C) A.-wer. w31, (3efaea ufshan 3ey)

(D) =376, (Fg Feta srgeem)
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Which of the following formula can be used to represent the “Measurement and
Evaluation relation” ?

(A) Measurement = Evaluation + Assessment

(B) Evaluation = Measurement + Assessment

(C) Measurement = Evaluation

(D) Assessment = Measurement + Evaluation

TelTeh-1 Tal A9 o Hrai=er o1 ferior foet # & fopg gt grn wefda fopean s aehar 2 2
(A) T = Yeiehd + qe fetor (B) T = T + qe ferfeom

(C) WU = JeATh (D) e faafor = ua + e
Which of the following steps is not a part of “Project — Method” ?

(A) Creation of the situation (B) Selection of project

(C) Analysis of information (D) Evaluation of the project
11 5 | % |1 ug TR fafy s vm gl g v

(A) uffefa 3ea=1 & | (B) YTRISHT =1 T4 |

(C) F=T T fergetwmn | (D) SIS 1 JeAThA |

Which of the following suggestions were not presented for the continuous and
comprehensive evaluation of National Education Policy-1986 ?

(A) Evaluation should be aim-based.

(B) Nature of evaluation should be vast.

(C) Evaluation should be done regularly.

(D) Intensive training is not needed in making of question papers.

T fre ifd- 1986 H gexier i e 3R Sdeh s % 31=ia = g el feam w —
(A) TR AT TG BT =1T |

(B) TR %l &Y ST BT AT | E%%
(C)  Terieh Fre feben s =R | BEE
(D) Sz fomior & reamden <l e wiTerT 1 STTavEehdl T8 ¢ |

Which of the following is useful in class-room teaching comparative study ?

(A) Poster (B) Time lines

(C) Sketches (D) Graph

e - fregur § gerTenes S1ezE % fore Swvt B @ -

(A) UIEX (B) TWI-dTfetehid

(C) Y@= (D) T®

A student can learn about the culture and folk life of ancient and modern times through
(A) Tour (B) Museums

(C) Observation (D) All of the above

T U S It hl HEhi Td Al —SiiaH 1, BT Teel §9 8 FH YT hidl 7, 98 TAH 8 —
(A) vl (B) IR

(C) FFaelsh (D) 3T et
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The newer, younger deposits of the flood plain in North-Indian plain, are known as —

(A) Bhanger (B) Khadar

(C) Bhabar ] (D) Terai ]

IH-URA HeH | &g i T3-ar fat w1 s Srar & —

(A) ¥R (B) WX

(C) W’ (D) e

Which is the most wide spread forest in India ?

(A) Tropical Deciduous forest (B) Tropical thorn forest

(C) Tropical evergreen forest (D) Montane forest

A H Sgard & U S STl s hi A1 g ?

(A) SThfeaeiT qofaTd} o (B) 3Wrhieafid ShiceR o

(C) 3IUTHRETH HEEER I (D) U 5

Which crop is known as “Golden Fibre” ? ®5E
(A) Cotton (B) Jute 1:%53
(C) Hemp (D) Natural Silk [
SHIF Y HHA I IS WM % A H AT AT 8 7

(A) pUH (B) S

(C) & (D) Tehfeh

Metallic mineral pair is —

(A) Manganese — Copper (B) Copper — Graphite

(C) Iron—Mica (D) Mica— Dolomite

gfeeres @S 9 8 —

(A) S —dfan (B) el — UHTEL

(C) IR — 3I¥H (D) 319 — SIS

The biggest selling anti-cancer drug in the world is extracted from which plant in India ?
(A) Arjun (B) Himalayan Yew

©) Sarpagandha . (D) Axlewood

Torva # ge@ 3feres foreh aTeht oher et 37T WA # 6 9 919 8 9T il & ?
(A) 3@‘:{ (B) femmerm w=

(C) wdmen (D) IHFEETIS

In the arid and semi-arid regions of Rajasthan, the word “Palar Pani” is used for —
(A) River water (B) Underground water

(C) Canal water . (D) Rain water

TSTEAT o I 9 314 -6 &A1 § “TeR-TH1” I1eg, fohdeh foTe Sger g g 7
(A) & A (B) Y[FTd S

(C) &l (D) a§i S

The biggest solar park of India is established in which district of Rajasthan ?
(A) Jodhpur (B) Jaisalmer

(C) Barmer ’ (D) Bikaner
TSTEAH o i 8 fTel § W 61 Had o121 Hiek Ires L1 feram man g ?

(A) SR (B) SGeHT

(C) WTeH (D) sffeTR
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INSTRUCTIONS / féu
(Read carefully and comply / &9 & 9 3R e #%)
IMPORTANT / wieear ot

. In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the

. In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the
Online Application Form. The Language-II will be different from Language-1.
GUE [11 (TS~ 11) W6 ATETh T 1 b AT ST & IoT8 AT BT S SIS WIS - [[h &N AT ST1ae - T A R | e - 11 arer - 18 forea et |
. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the
OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not
Ferd o f O e o s e, R | s frz 1
OMR ¢ R AH-qEs T 3. TR OMR gfie &1
- %mﬂ—mmwﬁmw.%ww%ml
. The candidate has t0 answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studies as selected by the candidate

Online Appli F
@%1??(5%cstl%nsﬂ%r%maauaﬁﬁwwaﬁaﬁ%ﬁﬂwwwawﬁ%mml%mﬁmaﬁﬁwﬁﬁm%|

in the Online Applicaton Form.
If a candidate answers the questions of the langu dge or subject other than selected in the Online Application Form, the candidate shall be
personally responsible _for it and it would be treated as wrong.
%mzﬁﬁsamﬁf W%ﬁg@m IV ) IO Td o an (v by amrioes sremaq 8 3d) fowa & usl & ed & 2, o fawg & =wmm seft
AT e - |
gﬁ%awa AT TG -U= | =wgfad 9T a1 fawa % WAt F e 7 G o fawa & wedl @1 g et @ ) 9g g i @ A e
qAT AT AT ST |

Read complete instructions carefully and fill the details from S1. No. 1 to 7 in the OMR Answer Sheet and S1. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising during
scanmeé of your OMR Answer Sheet.
TTH ﬁtmlﬁ7WOMRsﬁE®W1ﬁ4a$m—«rg%m(§aﬁsz)aﬁu%|uﬁmwaﬁ%%ﬁa¥w
‘mﬁmzﬁnwmﬁ% OMR <ffe it THTT & Fewasd g 9T TROmE & Fid T @ et g |
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates will open
the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in
OMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Questlon Booklet.
EECE T 96 I8 UL 150 W& © | Tt ey 57 9 & W € w9 - & "o wg gifeag = & T ge-gfeaan # 150
Tee § S 6 U8 e 3§y 90 @& &_| OMR ffe W firge TR gwredi @ SR 6l T8 793-99 & AGER sfeha Bl € T W
T -GfEqHT % SO AT R AT sifera R €I R |
All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark. There
will be no negative marking for wrong answers.
T3t we Tgfrmedia yER % & | o W o U fershed € A R | e e % fordt frarffia ofe w2 | o wrare 3 Rl ot ot et R wmi |
All questions other than language questions of Sections II and III shall be bilingual.
WH-YA & HINT G2 @8 11 T 111 & 9T o AfaiRed A8 a9 guet & we fgwrha g |
In any event of any mistake_in any question/s, candidates will not be penalized. However ng corrections will be made in question/s during the examination.
w9 7 ot e % fosd TreTa i fohEl WeRR T THETA et GITT | TXTTT ST ST 5 W1 # {ohel] TR T G el Beardl
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
uestion Booklet. No additional paper shall be provided.
TR % TF h1d o W - s g TS S1 AT € | 38 WA -t @ 78 wie. | forelt yoer @t srfrfkad wne Suwes A€t waman s |
Use of Log tables, Calculator, Slide rule, Moblle phone, Pager, Dlgltal diary, Bluetooth, Microphone or any other electronic item/instrument
st ot glowed, Thelp e wil st n disqualficaion fore o S/ e 0 i At
, TES(1es I, ARG AT I YHR HT SEEu] ki
%Iﬁmﬂmqﬁm%mﬁﬁa%mmm% e ™
OMR Answer Sheet will be provided along with Question Booklet separately.
OMR ¢flc Us7-qeqeht & a19 SAfaierd Je i G%Tﬁ
The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
Answer Sheet. The Question Bookletseal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to4 entries correctly
on the Question Booklet. After opening the Question Booklet, ensure that any page/ question is not missing / not printed / torn / repeated. In case,
you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced within 5 minutes by the Invigilator.
Warmn Bell will ring at 5 minutes before closer of examination and the last long bell will ring at closer of exammatlon
YT -TIRqHT URIEAT_STTEA T & 10 foe 4& of st | awaﬁmaswwﬁOMRaﬁzﬁwﬁu%&uﬁ YRR § W_| T -
g%wa?rﬂﬁa,qﬁmm% 5 foete v @ra qu) % w1 ¥ 4 1 wlafsedt wit Hﬁwﬁ%ﬁ |1;rs‘=r gﬁ:—lm@ﬂﬁ%qsamqﬁma'fw
gﬁﬁmaﬁ%wﬁﬁaﬁaww%/aﬁémﬂwaﬁﬁ% BUTE It B /AT Tg FE I AR 93 T © | TG A9A-
g%mﬁ R H HTE Ffe IIE ST T qehied STeqeh H AT Sﬁ:l'rﬁ_’a?“ﬁ'cl'{ & T AUAT T - eI chl dqvicuﬁ | ﬂdlddl‘il?ﬁ
WT%}%SWH@‘W@WW@Q%W LCEC
Write your Name, Exam Center Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet Number
in the gpace pr0v1ded in the Questlon Booklet as well as in the OMR Answer Sheet.
- 1%'T:%OMR sffe R feiika =&\ W TW, T S B FE, TEIER, AHF, FE-IEaw €W Fi5, fEe FwHie w@ v giea
ShHTeh 3ifehd |
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding
to the question. For marking answers use blue/black ballpoint pen only Gel pens/pencils are not allowed.
3T o TR deh (9% SR A, B, CI DH Q@I E_| AT ang IR BT FIT X I8 IR & OMR e H G {7 Wt shTeh o awed
Tﬁéﬁmwsﬁmﬁ|wﬁaﬁaaﬁ%%ﬁﬁ%mmwwﬁ?wéw&ﬁ®|§Eﬁﬂmﬁﬁr«saﬂ affa® |

Correct Method : [ corrECT /st Wrong Method : [ wroNG /e WRONG /e WRONG /et WRONG / e

i 000 @| ™™ ROOO||oQ00o||0o000O||CeC e

OMR Answer Sheet is designed for computer evaluation. If you donot follow the instructions given above and at the backside ofthe OMR Answer
Sheet, 1t m make evaluation b}é;computer dlfﬁcult Any resultant loss to the candldate on the above account shall be of the candidate only.

OMRS Egﬁ OMR ¢fie s fuee fea T fgant TE R, T B TIRT STIhT
%|wwﬁqﬁmﬁﬁ%ﬁ s ﬁ%ﬁwﬁm @?W e B

No candldate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the Original Copy is not mutilated
in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before leaving the examination hall.
Candidate can carry only the Candldate s OMR [} w1th him/her. Questlon Booklet i 1s not allowed to be taken by the candidate.
TE Rredf STt Hel TSI b qd URien HE H TR IOMRQ mﬁi’-{ a%ﬁ%was TRERYA feRaT
%ﬁ% | swefl gaaT @ e aﬁw%(ajf%ﬂ'ﬁ)ﬁnysr% ? ug “g_?%ﬁl‘ﬁ&ﬂma
i‘gawaﬁOMRﬁF‘guﬁ@qw ok |3{Wﬂ°faﬁl?vrarq'rﬁ0MRaﬁ %ﬁa{qﬁmﬁiﬂ






